(Bl 1 1)

e A ERLRBRE e —F v — 3

Ot 77 m AR VREUVEWMERRIED 70 —F v — b
02% A % U Ufg-A % J— 1 (7:3) 100 mL
rEVHFA X

W51 A 1

AR
30 mL & T A
| Ve _UPUNbEoEr ) RUEEAKRI=AT A | AR
—— /K5 mL Ty
—— A% ) —)L5mL T

Bl - [
30% A & / —/L 1 mL
BRI I

| sk o~ 757 4 —
LC/MS




(iR 1 2)

R EREGRERE e —F v — 4
O7 = /) —NVREFELEBRAARBREDO 7 —F v — b (BROSHA
| A B | 59
1 mol/L ¥ 10 mL
—— HEfE 7L 50 mL
REVTA R
02y B 3,000 rpm. 5 min

| B =7 g | TR
[— R L 20 mL
I 5 min
=04y BfE 3,000 rppm, 5 min

| meme=F 18 |
|

Y 1t WLz [

B

—— 7k hr=hFVU/L20mL

—— 7 & b= KV AfEFI~F 2 20 mL
#£ & 9 5 min

|
[ 7 b=tV 8 | [~ )8 |

1 L [
Y

—— 72 br=FUl1mL
A 3 min
AT T T 4V HE =D

AR PRIR

| Estiglbs o~ 757 4— |
LC/MS/MS




(Bl 1 3)

FEE A ERLRBRE e —F v — 5
OX= U U RUEHERBREDO 7 0 —F ¥ — |k
| A B | 59
WEEHEYRIE (7 U v-d6, X2 P _X=11 -d5)
—— 5% X LT AT URRIRHE 5 mL
—— 0.17 mol/L #fif## 5 mL
7K 50 mL
rETVFA X

| EiliJanRise | =04y B 3,100 rppm, 10 min

| #2557 U e VLI =h T A |
—  Afr

—— /K 3 mL Ty

[Vt | 20 %7 % b= b UL 6 mL CHEH

— 4 mL % CIJEENE
AR | AKZEMZTI10mLICER

[Cesgik s o~ F 75 74— |
LC/MS/MS




